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Linearized knot diagam
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Solving Sequence

Aknotdiagranﬂ 410-5->11>12>9—>6—>1—>8 >3 —>7—> 2> C1,C6
€4 C0 €11 C9 C5 Ci12 Cg C3 Cr  C2

Ideals for irreducible component#ﬂ)f Xpar

I = (u +2u% + -+ 3u+1)
I3 =(u—-1)

* 2 irreducible components of dim¢ = 0, with total 91 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u4+2u® +..-4+3u+1)

(i) Arc colorings

0

aio = \u
1
as = _u2
U
a1 =\ —ud +u
w3
a2 = (—u3 + u)
—u3
ag = wd —ud 4 u
w —ut+1
ag = \ —u8 + 2ub — 2u*
wl” — 4ut® + Tl — 4y — 30 + 607 — 2u® +u
a1 = \ —u™ 4507 — 120" + 150 — 9utt — o +4u” — 205 —udP +u
—ull 4209 — 247 — 43
ag = \yl — 309 +4u" —u®P —ud 4+ u
—u?? 4+ 50420 — 12018 + 15016 — 10wt + 202 — W + b —ut + 1

az = \u?? — 6u?" + 17u'® — 261! + 20u'* — 13u!0 + 10u® — ub — 2u* + u?

ud” — 12u® 4 - 4 4" — 203
ar = \ —u*® + 13047+ —2ud +u

u% — 16u8r + .- — 607 + 2u®
az = \ —u% +17u5 + - =203 +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® — 96u®" + -+ + 8u — 2

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u? 4+ 40u® 4+ Fu 1

C2,Cg w0 — 200+ —u+1

c3, C12 u? +2u® 4 -+ 4 35u + 25

C4, C10 w20 o F3u 1

C5,C11 u? +3u® 4+ —37Tu+13
¢ u? —3u® + - —69u+ 13
& w0 + 14u™ 4 - -+ + 26531u + 1493
9 u? —48u%% + - —u 41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 v +20y% 4+ =5y +1
C2,Ce y90—40y89+..._y+1
€3, C12 y?0 — 72y + .. + 675y + 625
€4, C10 Y — 48y + - —y+ 1
cs, C11 y?0 + 758 + ... — 21571y + 169
cr y? + 3y + - 4+ 8941y + 169
¢ 90 89
8 Yy —24y°° 4+ .-+ = 76057601y + 2229049
Co y? =124+ 43y +1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u = —0.873411 + 0.5136971 —1.81913 — 4.099741 0
u = —0.873411 — 0.5136971 —1.81913 4 4.099741 0
uw= 0.902181 + 0.5258011 2.99810 + 6.090811 0
u = 0.902181 — 0.5258017 2.99810 — 6.090811 0
u = —0.897963 + 0.5362511 1.02275 — 11.204501 0
u = —0.897963 — 0.5362511 1.02275 + 11.204501 0
U 0.922566 + 0.4964021 3.48059 + 3.554981 0
u = 0.922566 — 0.4964021 3.48059 — 3.554981 0
u = —0.903572 4 0.2762207 0.20740 — 3.771871 5.01166 + 7.48596.1
u = —0.903572 — 0.2762201 0.20740 4 3.771871 5.01166 — 7.485961
u= 0.788143 + 0.5206551 —4.28906 4 5.70288] | —4.46481 — 8.343007
u= 0.788143 — 0.5206551 —4.28906 — 5.70288] | —4.46481 + 8.343007
u = —0.941169 + 0.4808661 1.91087 + 1.419551 0
u = —0.941169 — 0.4808661 1.91087 — 1.419551 0
u = —1.059210 4 0.0192291 6.75320 — 1.387071 0
u = —1.059210 — 0.0192297 6.75320 4 1.387071 0
u = 1.063040 4 0.0352421 4.97510 + 6.544661 0
u = 1.063040 — 0.0352421 4.97510 — 6.544661 0
u = —0.770968 + 0.4822151 —1.57766 — 2.01209] | —0.85760 + 4.471641
u = —0.770968 — 0.4822151 —1.57766 4+ 2.01209] | —0.85760 — 4.471641
u= 0.738456 + 0.5176451 —4.43144 — 1.459671 | —5.28174 + 0.473741
u= 0.738456 — 0.5176451 —4.43144 4+ 1.459671 | —5.28174 — 0.473741
u = 0.831064 + 0.0963801 1.270970 4 0.1227161 8.82726 — 0.420411
U 0.831064 — 0.0963801 1.270970 — 0.1227161 8.82726 + 0.420411
u = —0.126989 + 0.8220337 4.77347 4 11.448001 3.37132 — 7.613821
u = —0.126989 — 0.8220337 4.77347 — 11.448001 3.37132 + 7.613821
u = 0.120864 4 0.8206671 6.74638 — 6.205891 6.36909 + 3.295811
u = 0.120864 — 0.8206671 6.74638 4 6.205891 6.36909 — 3.295811
u= 0.103336 + 0.8192131 7.26934 — 3.285591 7.18981 + 2.930191
u= 0.103336 — 0.8192131 7.26934 + 3.285591 7.18981 — 2.930191




Solutions to I

V=1(vol + v=1CS)

Cusp shape

1

IS

—0.094198 +4- 0.8190931

5.74525 — 1.916081

4.94203 + 2.188791

u = —0.094198 — 0.8190931 5.74525 4 1.916081 4.94203 — 2.188791
u = —0.120401 + 0.8039531 1.59070 + 4.183571 0.16117 — 3.007951
u = —0.120401 — 0.8039531 1.59070 — 4.183571 0.16117 4 3.007951
u = —0.578569 + 0.5592121 0.13368 4 6.809521 | —0.27186 — 4.680361
u = —0.578569 — 0.5592121 0.13368 — 6.809521 | —0.27186 + 4.680361
u = —0.620498 + 0.5036721 —2.52931 — 0.095001 | —4.25506 + 0.728551
u = —0.620498 — 0.5036721 —2.52931 4 0.095001 | —4.25506 — 0.728551
u = —1.130970 + 0.4338011 0.70255 — 4.468511 0
u = —1.130970 — 0.4338011 0.70255 4 4.468511 0
u = —1.152640 + 0.3891061 1.84992 + 2.505881 0
u = —1.152640 — 0.3891061 1.84992 — 2.505881 0
u= 0.561042 + 0.5441831 2.05754 — 1.769201 2.90604 + 0.282431
u= 0.561042 — 0.5441831 2.05754 4 1.769201 2.90604 — 0.282431
u= 1.162250 + 0.4125501 4.17297 + 1.719011 0
u= 1.162250 — 0.4125501 4.17297 — 1.719011 0
u = —0.024292 4 0.7538921 2.47216 + 2.135711 5.91843 — 3.734211
u = —0.024292 — 0.7538921 2.47216 — 2.135711 5.91843 + 3.734211
u= 1.152150 + 0.4849691 0.27112 + 3.489971 0
u = 1.152150 — 0.4849691 0.27112 — 3.489971 0
uw= 0.153502 + 0.7291881 —1.85254 — 6.168071 | —1.72016 + 7.053991
u= 0.153502 — 0.7291881 —1.85254 4- 6.168071 | —1.72016 — 7.053991
u = —1.170070 + 0.4865331 3.64084 — 6.609351 0
u = —1.170070 — 0.4865331 3.64084 + 6.609351 0
u= 1.167280 + 0.4982841 1.08161 + 10.769601 0
u= 1.167280 — 0.4982841 1.08161 — 10.769601 0
u= 1.191320 + 0.4431941 5.96752 + 2.132571 0
u= 1.191320 — 0.4431941 5.96752 — 2.132571 0
u= 1.213250+ 0.3911111 5.57380 — 0.112851 0
w= 1.213250 — 0.3911111 5.57380 + 0.112851 0




Solutions to I

V=1(vol + v=1CS)

Cusp shape

= —0.116850 + 0.7129141

1

IS

0.62172 + 2.111281

2.36589 — 3.427221

u = —0.116850 — 0.7129141 0.62172 — 2.1112871 2.36589 + 3.427221
uw = —1.191720 + 0.4610191 5.84080 — 6.544721 0
uw = —1.191720 — 0.4610191 5.84080 + 6.544721 0
u= 0.485978 4+ 0.5289521 2.30152 + 0.596761 3.38135 — 0.446381
u = 0.485978 — 0.5289521 2.30152 — 0.596761 3.38135 + 0.446381
u= 1.224080 + 0.3847211 8.85923 — 7.343111 0
u= 1.224080 — 0.3847211 8.85923 + 7.343111 0
u = —1.223690 + 0.3887981 10.80400 + 2.079811 0
u = —1.223690 — 0.3887981 10.80400 — 2.079811 0
u = —1.223810 + 0.3996261 11.25850 — 0.906711 0
u = —1.223810 — 0.3996261 11.25850 + 0.906711 0
u=1.224080 + 0.4048481 9.70226 + 6.143081 0
uw=1.224080 — 0.4048481 9.70226 — 6.143081 0
u = —0.450612 + 0.5481051 0.55266 — 5.545611 0.22267 4 5.352371
u = —0.450612 — 0.5481051 0.55266 + 5.545611 0.22267 — 5.352371
u = —1.197770 4+ 0.5052071 4.76470 — 8.982851 0
u = —1.197770 — 0.5052071 4.76470 + 8.982851 0
u = —1.208040 + 0.4975681 9.04174 — 2.876411 0
u = —1.208040 — 0.4975681 9.04174 4 2.876411 0
u= 1206570+ 0.5013591 10.53440 + 8.099751 0
u= 1206570 — 0.5013591 10.53440 — 8.099751 0
u= 1203810+ 0.5086121 9.9530 + 11.06351 0
uw=1.203810 — 0.5086121 9.9530 — 11.06351 0
u = —1.203080 + 0.5112551 7.9613 — 16.32321 0
u = —1.203080 — 0.5112551 7.9613 + 16.32321 0
u= 0.164684 + 0.6613021 —2.55538 4 0.912591 | —3.81773 — 0.787331

= 0.164684 — 0.6613021

e
|

—2.55538 — 0.912591

—3.81773 + 0.787331

u = —0.299147 + 0.4700651

—1.76511 + 0.799751

—3.82418 — 0.770731

u = —0.299147 — 0.4700651

—1.76511 — 0.799751

—3.82418 + 0.770731




II. I; = ('u,— 1>

(i) Arc colorings

a7 =

a1z =
-1
1
1
ag — —1
2
ayp = —1
—2
ag = 1
-1
az = 1

0

(ii) Obstruction class = —1

(iii) Cusp Shapes =6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
! u+1
C2,C3,C4
C6, C8, Cg u—1
€10, C12
Cs5,C7,C11 U




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4,Cg, Cg Y- 1
Cg, C10, C12
C5,C7,C11 )
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = 1.00000 1.64493 6.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1 (u+1)(u®® 4+ 40u®® + - +u + 1)

C2, Co (u—1)(u® —20uB® + - —u +1)

s, C12 (u — 1) (u 4 2u®® 4 - - - + 35u + 25)

¢4, C10 (w—1)(u” 4+ 2u* + -+ 3u+1)

cs, C11 w(u® + 3u®? + - — 37u + 13)
c7 u(u” — 3u®® + - — 69u + 13)
c8 (u—1)(u” + 14u® + - - - + 26531u + 1493)
9 (u—1)(u” —48u® 4 - —u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

“ (y = D™ +20y™ + - —5y+1)

2, Co (y — 1)(y*° — 40y - —y + 1)

€3, C12 (y — 1)(y*° — 724 4 - + 675y + 625)

C4,C10 (y—l)(y90—48y89+---—y+1)

Cs, C11 y(y?° + 75y + - — 21571y + 169)
¢ y(y™ + 3y + - + 8941y + 169)
¢ 90 89 7
8 (y—1)(y™" — 24y> + -+ — 7.60576 x 10"y + 2229049)
© (y =) =12 + - + 3y + 1)
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